Figure 1.

G
Ctrl NTPAM Ctrl NTPAM
— | [ ——]
PARP e
pro-caspase3 | " S —
: ]
B-ACtn | “mm—— | S—
BCPAP 8505C

PARP

S
v \a
& é&q ¢ \S‘Q
245 0
180
| [l -
100’ L — >
75}!‘ e N
BCPAP 8505C

BCPAP

180

pro-
caspase3

B-Actin

&
& & &
N K
60
45 45 o ———
b
35 | —— 353iF'~w -
25 25
20 20
BCPAP 8505C
> N
N Qv. N ot
& & & &
180 |
140 |
100 1 I
75
60
45 —_—
35 0F
25
20 r—
BCPAP 8505C



Figure 4.

C Ctrl NTPAM Ctrl NTPAM
EGR1 — -
B-Actin | “— Ne———
BCPAP 8505C
D N T N T N T N T
EGR1 [!ﬂ IE !— i l-
B-aCtin | wmw | | c——— | —

N S
v \a
& R N R
IO N
——
180 |
40
00 S—
EGR1 £75 . -
@ .
45 i— P
BCPAP  8505C
45 | —  ——
B-Actin N—
25
20
BCPAP 8505C
180
140
EGR1100 100
75
60
60l
B-actin 45

N\ N\
> & o &
& &L

35

BCPAP

8505C

180 =
140
100

75
60

45/ -
180 =
m e

140
100 ¢ = 1




Figure 4.

EGR1

B-Actin

EGR1

B-Actin

Vec EGR1

i

BCPAP

Vec EGRL
EGR1 -—
B-Actin | e—
8505C
v
S
£ A
o &
> <&
Ecry | 0
B-Actin | “e——
8505C

EGR1

Vec EGR1
245
1918[
EGR1 100: - ‘_ EGR1
75r"
-
45 +-—
B-Actin 35 "% B-Acti
-Actin
25
BCPAP
v Sl
& & NG
'Q' () ‘8. N
& L o° &
S £ 0 S ¢
% = —
140 -a ) 45 |
B-Actin
100 350
75 | .-

BCPAP

BCPAP

Vec EGR1

1

180
140

100

60f "=

60

N

8505C

B-Actin

8505C



Figure 5.
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Figure 6.
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